

$$x^2 + y^2 - 4x + 4y + k = 0$$

$$x^2 - 4x + 4 + y^2 + 4y + 4 + k = 0$$

$$x^2 - 4x + 4 + (y+2)^2 + k = 0 \quad \text{با } k \leq 11$$

$$x^2 - 4x + 4 + (y+2)^2 + k - 11 = 0$$

$$x^2 - 4x + 4 + (y+2)^2 = 11 - k$$

بست جیب صفر به مرکز باشد و صفرات منهای باشد
صاف به نقطه صفر باشد و صفرات منهای باشد

$$f(n) = \begin{cases} n^2 + 5n & ; n \geq a \\ n^2 + a + 1 & ; n \leq a \end{cases}$$

اگر $a^2 + a = 2$ $\Rightarrow a^2 + a - 2 = 0 \Rightarrow (a+2)(a-1) = 0$
 $a = -2, 1$

$$f(n) = \begin{cases} n^2 + 5n & ; n \geq 1 \\ n^2 + 1 & ; n \leq 1 \end{cases}$$

$a > 0 \rightarrow a = 1$

$f(1) = 1^2 + 1 = 2$

$$f(n) = \begin{cases} n^2 - b & ; |n+1| \geq 2 \rightarrow \begin{cases} n+1 \geq 2 \rightarrow n \geq 1 \\ n+1 \leq -2 \rightarrow n \leq -3 \end{cases} \\ a + n & ; -2 \leq n \leq -1 \end{cases}$$

اگر $n = -2$ $\Rightarrow a - b = a - 4$
 $a - b = a - 4$
 $a + b = 24$

$$y = \sqrt{4n-a} + \sqrt{b-2n}$$

این دو فقط برای y مثبت است

(I) $\sqrt{4n-a} \geq 0 \Rightarrow 4n-a \geq 0 \Rightarrow 4n \geq a \Rightarrow n \geq \frac{a}{4}$

(II) $\sqrt{b-2n} \geq 0 \Rightarrow b-2n \geq 0 \Rightarrow b \geq 2n \Rightarrow \frac{b}{2} \geq n$

$\frac{b}{a} = \frac{4}{12} = \frac{1}{3}$

$I \cap II = \{2\} \Rightarrow \frac{b}{2} = 2 \Rightarrow \frac{a}{4} = 2 \Rightarrow b = 4, a = 12$

الف) $\sqrt{4n-a} \geq 0 \Rightarrow 4n-a \geq 0 \Rightarrow 4n \geq a \Rightarrow n \geq \frac{a}{4}$

ب) $\sqrt{b-2n} \geq 0 \Rightarrow b-2n \geq 0 \Rightarrow b \geq 2n \Rightarrow \frac{b}{2} \geq n$

$I \cap II = \{2\}$

ج) $\sqrt{4n-a} \geq 0 \Rightarrow 4n-a \geq 0 \Rightarrow 4n \geq a \Rightarrow n \geq \frac{a}{4}$

د) $\sqrt{b-2n} \geq 0 \Rightarrow b-2n \geq 0 \Rightarrow b \geq 2n \Rightarrow \frac{b}{2} \geq n$

$I \cap II = \emptyset$

$$\frac{r}{2} E$$

$$y = \frac{n^2 - n - 4}{n^2 - (r^2 n^2 + 4)} \geq 0 \quad \frac{(n+r)(n-r)}{(n-r)(n+r)(n-r)(n+r)} \geq 0 \quad (الف)$$

$$y = \frac{n^2 - n^2 - 0n + 4}{n^2 + n^2 - 0n + 4} = \frac{(n-1)(n^2 - n - 4)}{(n+1)(n^2 + n - 4)} = \frac{(n-1)(n+r)(n-r)}{(n+1)(n+r)(n-r)} \geq 0$$

$$P_f = (-\infty, 5) \cup (r, \infty) - \{r\}$$

$$y = \frac{[-n] - r}{[-n] - r} \rightarrow [-n] - r \geq 0 \rightarrow [-n] \geq r \Rightarrow -n \geq r \Rightarrow n \leq -r$$

$$(-\infty, -r\}$$

$$y = \frac{0n^2 + 4}{[n]^2 - r[n] - r} \quad [n]^2 - r[n] - r \neq 0$$

$$[n]^2 - r[n] + 1 = 0 \quad \frac{-10}{+404} - \frac{r}{404} + \frac{r}{404}$$

$$P_f = \mathbb{R} - [-1, 0) \cup [r, \infty)$$

$$y = \frac{\cos n + 1}{\tan n + 1} \rightarrow \frac{\cos n}{\sin n} + 1 \rightarrow (I) \sin n, \cos n \neq 0$$

$$(II) \tan n + 1 \neq 0 \quad \tan n \neq -1$$

$$P_f = \mathbb{R} - \left\{ \frac{k\pi}{r} \right\} \cup \left\{ \frac{k\pi}{r} + \frac{\pi}{2} \right\}$$

$$1 - \sin n \geq 0 \quad 1 - \sin n \geq 0$$

$$\frac{1}{r} \geq \sin n \quad -\frac{1}{r} < \sin n < \frac{1}{r}$$

$$P_f = \left[r\alpha - \frac{\pi}{r}, r\alpha, \frac{\pi}{r} \right]$$

$$y = \frac{1 - \log \frac{n-1}{r}}{1 - \log \frac{n-1}{r}} \geq 0 \Rightarrow \log \frac{n-1}{r} \leq 1 \quad \log \frac{n-1}{r} \leq 1$$

$$m-1 \leq \frac{1}{r} \Rightarrow m \leq \frac{r}{r-1}$$

$$P_f = \left[\frac{r}{r-1}, \infty \right)$$

$$y = \frac{n^2 - n}{1 - \log \frac{n^2 - n}{r}} \rightarrow I \quad 1 - \log \frac{n^2 - n}{r} \neq 0 \rightarrow -\log \frac{n^2 - n}{r} \neq -1$$

$$P_f = \left[-\frac{1}{r}, r \right]$$

$$y = \frac{r^m - n^r}{r^m - n^r} \geq 0 \quad r^m - n^r \geq 0 \quad n(n-1) \geq 0$$

$$r^m - n^r \geq 1 = r^m - n^r \geq r^m$$

$$r^m - n^r \geq r^m$$

$$0 \geq n^r - r^m \Rightarrow 0 \geq (n-1)(n-r)$$

$$y = \left(\frac{r^m + \omega}{r^m + \omega} \right)! \rightarrow (W)!$$

$$\frac{r^m + \omega}{r^m + \omega} \in W \Rightarrow \{m | n = \frac{r^k + \omega}{r - r^k}, k \in W\}$$

$$r^m + \omega \in r^m W + r^m W \quad m \in \frac{-\omega + r^m W}{r - r^m W}$$

$$r^m - r^m W = -\omega + r^m W$$

$$r^m - r^m W = -\omega + r^m W$$